Name ___________________________________________________________
ARTILLERY MARKING

The first measurement is multiplied by 112.  The second is multiplied by 28.  The third is multiplied by 1.  Add the three products together to find the total weight of each cannon.


Cannon A:  9 – 3 – 9 
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Cannon B:  8 – 2 – 19





Cannon C:  7 – 3 – 25





Cannon D:  6 – 2 – 18





Cannon E:  8 – 1 – 17





Cannon F:  7 – 1 – 16

The st moasuromont s mulpid by 12, Tho second s mupliod
by 20, T v multiod by 1. A e hee procts togeher
1010 h il woight ofcach canron.

Gannon A: 9-3-9

Cannon: 8-2-19

Camnonc: 7-3-25

—

CannanF: 7-1-16



